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PART 1. GENERAL ASPECTS
TEXT 1.WOOD AND ITS CLASSIFICATION

PRE-TEXT EXERCISES

Ex.1. Pronounce the words with the 1% type of reading.
a [ei] Enable, name, plate, date, hate, rate, mate;

e [i:] tree, feet, fleet, seed, feed, greed, free;

I [ai] time, crime, pine, lime, rime, fine, shine;

0 [ou] smoke, phone, note, tone, hone, prone, bone;

u [ju:] student, tube, mute, suit, dude, huge;

y [ai] ply, try, cry, sly, dry, fry, my, thy, shy.

Ex.2. State to what part of speech the following words belong.

Woody — wood; long — length; active — activity; organic — organ;

proper — property; coniferous — conifer; dense — density; hard — hardness;
thick — thickness; supportive — support; functional — function;

relative — relation; commercial — commerce.

Wood is an organic material. It is produced as secondary xylem in the stems of trees
(and other woody plants). In a living tree it conducts water and nutrients to the leaves
and other growing tissues, and has a support function, enabling woody plants to reach
large sizes. However, wood may also refer to other plant materials with comparable
properties, and to material engineered from wood, or wood chips or fiber.

People have used wood for many purposes, primarily as a fuel or as a construction
material for making houses, tools, weapons, furniture, packaging and paper. The
year-to-year variation in tree-ring widths gives clues to the prevailing climate at that
time.

There is a strong relationship between the properties of wood and the properties of
the tree that yielded it. There is some correlation between density of a wood and its
strength (mechanical properties). For example, while mahogany is a medium-dense
hardwood which is excellent for furniture crafting, balsa is light, making it useful for
model building. The densest wood may be black ironwood.

It is common to classify wood as either softwood or hardwood. The wood from
conifers such as pine is called softwood, and the wood from dicotyledons (usually
broad-leaved trees, for example, oak) is called hardwood. These names are a bit
misleading, as hardwoods are not necessarily hard, and softwoods are not necessarily
soft. The well-known balsa (a hardwood) is actually softer than any commercial
softwood. Conversely, some softwoods like yew are harder than most hardwoods.

Vocabulary

xylem — kcunema

wood chips — apeBecHas memna
tree-ring — romoBoe KOJIBIIO AepeBa



mahogany — xpacHoe aepeBo

black ironwood — kpyruoaeHIpoH sKeIe3HbIH
softwood — msirkast IpeBecrHa

misleading — oOMaHYNBEI#t

dicotyledon — nBymosibpHOE pacTeHHE
conversely — naobopot

YeW — THC

oak — 1y6

Ex.1. Answer the questions.

1. What is wood?

2. Where is it produced?

3. What does it conduct to the leaves and growing tissues?
4. What have people used wood for?

5. Is there a relationship between the properties of wood and those of the tree that
yielded it?

6. How is it common to classify wood?

7. What is called softwood?

8. What makes balsa useful for model building?

9. Why is mahogany excellent for furniture crafting?

10. What softwoods are harder than most hardwoods?

Ex.2. Translate from English into Russian.

Growing tissue; a support function; may refer to other plant materials; comparable
properties; engineered from wood; primarily as a fuel; the year-to-year variation;
tree-ring width; to give clue; prevailing climate; medium-dense hardwood; strong
relationship between; furniture crafting; useful for model building.

Ex.3. Translate from Russian into English.

Opranuyeckuii MmaTepua; IPEBECHOE PACTEHHE; BTOPUYHAS KCHIIEMA; PACTUTEIBHOE
ChIpbE; CpaBHUMBIC CBOMCTBA; yKa3blBaTh Ha MPEOOJATaoONIUi KIUMAaT; CUJIbHAs
B3aMMOCBSI3b; pa3pabOTKa MOJIEIH; MPOMBINIJICHHAS JPEBECHMHA XBOWHBIX IOPO/I;
ITUPOKOJIUCTBEHHOE JIEPEBO; HA00OPOT; MATKAs IPEBECHUHA.

Ex.4. Complete the sentences.

1. Woodisan....

2. ...as secondary xylem in the stems of trees....
3. It is common to classify wood as ....

4. Conversely, some softwoods like yew are ....
5. The wood from conifers such as pine is called
6. These names are a bit ....

7. The densest wood may be....

8. Some hardwoods like yew are harder than...



Ex.5. Translate the sentences.
. Secondary xylems play an important role in enabling plants to reach larger sizes.
. The construction material is used for making furniture, packaging and paper.
. The wood from conifers is called softwood.
. The well-known balsa is used for making musical instruments.
. Wood chips are a solid fuel made from woody biomass.
. The tool was made of wood and plastics.
. He was involved in the development of new wooden molds for his model.
. The trees reached large sizes.
. The scientist’s clues were misleading.
10. She gathered apple and cherry chips for making a campfire.
11. Commercial softwood became very expensive.
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TEXT 2 HARDWOOD AND ITS APPLICATION

PRE-TEXT EXERCISES

Ex.1. Pronounce the words paying attention to the 2™ type of reading.
a [&] Can, tram, ban, man, fan, lack, tack;

e [e] ten, help, peck, heck, wreck, deck, check;

I [i] pit, wrist, brisk, sit, hit, kick, pick, chick;

0 [o] plot, lot, soft, bond, wonk, honk, wrong;

y [i] myth, baby, shady, woody, moody, footy, rhythm;

u [a] sun, run, gun, rum, sum, slum, fun.

Ex.2. Compare the following sentences paying attention to the function of “there”
and word order in the examples. Translate them into Russian.

1. The prevailing climate is favourable for pine reforestation in the area.

2. There are favourable conditions for pine reforestation in the area.

3. Water evaporation is excessive in tropical forests.

4. There is excessive evaporation in tropical forests.

5. Many species of oak trees exist in the region.

6. There are many species of oak trees in the region.

Ex.3. Read the following words, translate them into Russian.

Conifer, density, example, actual, dominant, pore, considerable, shape, structure,
range, cooking, tropical, joinery, plywood, overexploitation, variety, core, cherry,
apple, cedar, pine, volume, application, bond, available, perforation, solid, supply,
teak, reticulate, utensil, cell.

Hardwood contrasts with softwood, which comes from conifer trees. On average,
hardwood is of higher density than softwood, although there is an enormous variation
in actual wood hardness in both groups, some hardwoods like balsa are softer than
most softwoods, while yew is an example of a hard softwood.



Hardwoods are more varied than softwood. There are about a hundred times as many
hardwoods as softwoods. The dominant feature separating hardwoods from
softwoods is the presence of pores, or vessels. The vessels may show considerable
variation in size, shape of perforation plates (simple, reticulate), and structure of cell
wall.

Hardwoods are employed in a large range of applications including: construction,
furniture, flooring, cooking utensils, etc. Solid hardwood joinery tends to be
expensive compared to softwood. In the past, tropical hardwoods were easily
available but the supply of some species such as Burma teak and mahogany is now
becoming restricted due to overexploitation. Cheaper “hardwood” doors, for instance,
now consist of a thin veneer bonded to a core of softwood, plywood or fibreboard.
(MDF). Hardwoods can also be used in a variety of objects but mainly for furniture
or musical instruments because of their density.

As hardwoods are denser, they contain more volume. This makes hardwoods such as
oak, cherry, and apple ideal for camp fires and smoking meat as they tend to burn
hotter and longer than softwoods such as pine or cedar.

Vocabulary

hardwood — TBepaas apeBecrHa

conifer — xBoitHOE AEpEBO

perforation plate — nepdopanmonHas racTHHKA
reticulate — ceTuaTbrit

flooring — HacTuIIKa 1MOJIOB

hardwood joinery — skecTko IpeBeCUHHBIE CTOJISIPHBIE PAOOTHI
teak — THKOBOE JEPEBO

veneer — ogHocoiHas ganepa

plywood — kieenas danepa

fibreboard — ¢pubOpoBkIi KapTOH

smoking — xomueHue

to restrict — orpaHHYNBATH

to contain — comep:kath, BKIIIOYATh

Ex.1. State if the following statements are true or false.
. Hardwood contrasts with softwood.
. Some hardwoods like balsa are harder than most softwoods.
. Hardwood is of lower density than softwood.
. There are about a thousand times as many hardwoods as softwoods.
. The vessels may show minimal variation in size.
. Solid hardwood joinery tends to be expensive compared to softwood.
. As hardwoods are denser, they contain more volume.
. The supply of some species such as Burma teak and mahogany is now becoming
unrestrlcted due to overexploitation.
9. The dominant feature separating hardwoods from softwoods is the presence of
bark.
10. In the past, tropical hardwoods were hardly available.
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Ex.2. Translate the expressions from English into Russian.

Comes from conifer trees; there is an enormous variation; some hardwoods like
balsa; about a hundred times as many hardwoods as softwoods; the presence of pores;
shape of perforation plates; hardwood joinery tends to be expensive; consist of a thin
veneer; mainly for furniture or musical instruments; for smoking meat.

Ex.3. Complete the sentences.

1. Hardwoods are employed in...

2. Hardwood contrasts with softwood....

3. Hardwoods are more....

4....they contain more volume.

5....tends to be expensive compared to softwood.

Ex.4. Translate from Russian into English.

TBepI[a}I JpEBECHUHA, 0ojee BBICOKas IJIOTHOCTb, 4YCM Y MSTKOH JPECBCCHUHBI,
pa3H006pa3Hee; MOI'yT IIPOABUTL 3aMCTHBIC Pa3IMuusA; CTPYKTypa KJICTOUHOM
O6OJIOLII(I/I; IIUpOoKasa 0071aCThb IIPUMCHCHHA; II0 CPABHCHHUIO C MSTKOM IIpeBCCHHOfI;
IIPOABJIATh TCHACHINWIO K TOPCHHIO.

Ex.5. Revise the English Tenses and translate the sentences.

1. Both groups are employed in a large range of activities.

2. The forester has prepared some wood chips for smoking meat.

3. Hardwoods can be used for making furniture because of their density.

4. Conifer trees are expected to be grown in the area.

5. The main function of a forester is to manage forests and protect them from
poachers.

6. The poachers were engaged in illegal blue fox hunting.

7. As hardwoods are denser, they must contain more volume.

8. The presence of pores makes hardwoods different from softwoods.

9. His son was engaged in furniture crafting and had a decent monthly salary.
10. Red mahogany finish will make the living room more spectacular.

11. The fine wood will be used in making some musical instruments.

TEXT 3 SOFTWOOD AND ITS APPLICATION

PRE-TEXT EXERCISES

Ex.1. Pronounce the words according to the 3d type of reading.

a [a:] Large, larch, hard, smart, start, tart, part;

o [o:] form, storm, worm, corm, corn, horn, torn, torture;

e [3:] fern, perm, stern, germ, term, kerky, perky;

I [3:] firm, sir, first, mirk, cirque, twirl, swirl, wirl;

y [3:] syrton, myrrh, myrcene, myrcenol, myrmidon, myrinx, myrtle;
u [3:] burn, turn, furry, blur, sturdy, further, hurtful.



Ex.2. Translate the Participles into English according to the pattern.

[TonuBaromuii, monuteii — watering (Participle 1), watered (Participle 2);
BKJIFOYAIOIINM, BKIIFOYCHHBIA, YUTAOIIUN, IIPOYUTAHHBIN, pACTYIIAM, BbIPAIICHHBIH,
BBIOMpAIOIIUMA, BBIOpAHHBIN, MAIOIIMM, OTJAHHBIM, CMOTPAIIUM, MPOCMOTPEHHBIH,
V3y4arolni, N3YYCHHBIN, JOKA3bIBAIOIINN, JOKA3aHHBIW, CTPOSIINAM, TOCTPOCHHBIH,
MIPOU3BOASAIINM, MTPOU3BEACHHBIN, CPABHUBAIOIINNA, CPABHEHHBIM, HCHOJIB3YIOIIUH,
WCIIOJIb30BaHHBIH, YI0OPSIOMINMA, YA0OOPEHHBIN, JeIa0IuM, ClIeTaHHbIM.

Ex.3.Form Participle 1 from the verbs and translate them into Russian.

To meet, to obtain, to produce, to transport, to use, to break, to sit, to grow, to do, to
come, to close, to demonstrate, to water, to fertilize, to nourish, to feed, to continue,
to finish, to break, to sell, to buy, to keep, to cut, to evaporate, to multiply, to exert, to
exploit, to examine, to conclude, to change, to work.

Softwood is wood obtained primarily from coniferous trees. With the exception of
cypress, tamarack, and larch, softwood trees are evergreens. Softwood is mostly
obtained from Baltic States, Scandinavia, North America, and is the source of about
80% of the world’s production of timber.

Perhaps the most noticeable difference between softwood and hardwood is found in
the microscopic structure of the wood. Softwood contains only a few types of cells
and has a simple structure compared with hardwoods. Softwoods lack the vessel
elements for water transport that hardwoods have. These vessels elements manifest in
hardwoods as pores. In general softwood forms the bulk of wood used by humans.

It is used for structural building components, furniture, millwork (doors, windows),
raw material as pulp in the production of paper and board.

Wood used in construction includes products such as glued laminated timber
(glulam), laminated veneer timber (LVL). They are sometimes selected for specific
projects such as public swimming pools or ice rinks where the wood will not corrode
in the presence of certain chemicals. These engineered wood products prove to be
more environmentally friendly, and sometimes cheaper, than building materials such
as steel or concrete.

Wood unsuitable for construction in its native form may be broken down
mechanically (into fibres or chips) or chemically (into cellulose) and used as a raw
material for other building materials such as chipboard, hardboard, medium-density
fiberboard (MDF). Such wood derivatives are widely used: wood fibers are an
important component of most paper, and cellulose is used as a component of some
synthetic materials. Wood derivatives can also be used for some kinds of flooring, for
example laminate flooring.

Vocabulary

softwood — msirkas apeBecuHa

tamarack — nucTBEeHHMIIA aMEPUKAHCKAs
larch — mucTBeHHuIa

vessel elements — anemeHTsI cocyna
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resin transport — TpaHCIIOPTHPOBKA CMOJIBI

radial — paguanbHbIi, TydeoOpa3HbIi

millwork — cronspusie paboTHI

glued laminated timber — nomaTo-kiecHbIe MaTEpUaIbI
laminated veneer timber — namunupoBanHas danepa
chipboard — mocka 13 npeccoBaHHBIX OIMUIOK
fiberboard — pubpoBeIii KapTOH

chemical — xumukar, xumpeareHt

Ex.1. Find the topical sentence of each passage.

Ex.2. Agree or disagree with the following statements.

1. Softwood is obtained from hardwood trees.

2. With the exception of several kinds softwood trees are evergreens.

3. Softwoods have a simple structure compared with hardwoods.

4. Softwoods include the vessel elements for water transport.

5. Glued laminated timber is sometimes used for specific projects such as public
swimming pools or ice rinks.

6. Wood derivatives can also be used for yacht manufacturing.

7. Wood used in construction includes only glued laminated timber (glulam).

Ex.3. Revise the English adjective formation and the infinitive forms.

Ex.4. Make up the degrees of comparison according to the pattern.
Noticeable — more noticeable — the most noticeable

general, synthetic, important, regular, accurate, abundant, dominant,
functional, critical, suspicious, thorough, twisted, complicated,
severe, sophisticated, belligerent, cohesive, secure, romantic.

Ex.5. Translate the sentences taking into account the infinitive forms.

1. Softwood is widely used to produce timber.

2. Coniferous trees must be planted in the area.

3. The wood to be used in the model is very rare and expensive.

4. Softwoods lack the vessel elements to transport water.

5. The forester knew his dogs to be playing in the yard.

6. Wood derivatives can also be used for laminate flooring.

7. These engineered wood products prove to be more environmentally friendly than
others.

8. He could see yellow cypresses out of his hotel window.

9. She heard him open the door and go to the kitchen.

10. The forester would like to plant and grow various new species of trees in the area.
11. Wood fibers should be used as an important component of most paper products.
12. The wood product proved to be too expensive for mass production.
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PART 2. FORESTRY AND ITS CURRENT ACTIVITIES
TEXT 1. DEFINITION OF FORESTRY

PRE-TEXT EXERCISES

Ex.1. Pronounce the words according to the 4™ type of reading.
air [eo] Pair, fair, airing, care, rare, chair, dare, hare;

ore [o:] core, shore, store, more, lore, deplore, tore, before;
car/ere [10] here, rear, sheer, mere, beer, deer, fear, peer;

ire [aro] fire, tyre, hire, sire, mire, tire, dire, scire facias;

ure [jus] during, cure, pure, mure, lure, fewer, stuart, curing.

Ex.2. Build up sentences from the words below.

1. Forestry the art is forests of managing.

2. Practitioner a known is of forestry as a forester.

3. Forests seen are as of components the biosphere.

4. Foresters involved are planning in forest regeneration.
5. Urban work foresters within town and city environment.
6. Some work foresters tree in nurseries.

Ex.3. Open the brackets using the right form of adjectives.

. Winter is (cold) season of the year.

. This oak is (old) in the forest.

. The pines by the road are (tall) than the ones near the lake.
. The path is (short) than the roundabout route.

. We have (little) interest in this work than you.

. Health is (good) than wealth.

. It is one of (important) questions of our conference.

. The Alps are (high) mountains in Europe.

coO~NOoO OIS WN -

Forestry is the art and science of managing forests, tree plantations and related
natural resources. Modern forestry generally concerns itself with: assisting forests to
provide timber as raw material for wood products, recreation, landscapes and
community protection. A practitioner of forestry is known as a forester.

Forests are seen as one of the most important components of the biosphere, and
forestry has emerged as a vital field of science, applied art and technology.

Foresters may be employed by the Forestry Commission (in Britain) industry,
government agencies, conservation groups, local authorities or private landowners.
Industrial foresters are involved in planning the forest regeneration.Other foresters
have specific jobs which include many responsibilities. For example, urban foresters
work within town and city environments to manage trees in urban green space. Some
foresters work in tree nurseries growing seedlings for regeneration projects. Others
are involved with tree genetics or developing new building systems as forest
engineers.
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Traditionally, professional foresters develop and implement “forest management
plans”. These plans rely on tree inventories showing an area’s topographical features
as well as its distribution of trees (by species). Finally, forest management plans
include the projected use of the land and a timetable for that use.

Traditional forest management plans are chiefly aimed at providing logs as raw
material for timber, veneer, plywood, paper, wood fuel or other industries. Hence,
considerations of product quality and quantity, employment and profit have been of
central, though not always exclusive, importance.

Foresters also frequently develop site plans. These may call for reforestation (tree
planting by species), weed control, fertilization, or the spacing of young trees
(thinning of trees that are crowding one another).

Foresters are specialists in measuring the growth of forests (forest mensuration).
Increasingly, foresters may be involved in wildlife conservation planning and
watershed protection.

Vocabulary

forestry — mecHoe X03sHCTBO

timber — necomaTepualibl, CTPOEBOH Jiec

forester- yiecHuuni, JECHUK

applied art — npukIaHOE KCKYCCTBO

conservation group — rpyrra o oxpaHe MPUPOJIbI

tree nursery — jecCHOM MUTOMHHUK

seedling — caxener, paccana

regeneration — BoccTaHOBIICHHE, pereHepalus

tree felling — pyOka neca

VEeNeer — mrnoH, oJiHocoHas paHepa

plywood — kieenas danepa, TUTHOJIUAT

management plan — rian pykoBojCcTBa

weed control — 6opsba ¢ copHsiKaMu

watershed protection — 3amura Bogopasaeia, bacceina
forest mensuration — qeHapoMeTpHs, IeCHAs TaKCALIHSI
thinning of trees — npopexruBaHue epeBbEB

log — 6peBHO

Ex.1. Find the expressions in the text and translate them into Russian.

Tree plantations, natural resources, raw material, wood products,

community protection, a vital field of science, applied art, conservation groups,
local authorities, private landowners, industrial foresters, forest regeneration,
specific jobs, urban green space, growing seedlings, topographical features,

the growth of forests, always exclusive, may be involved, aimed at providing logs,
wildlife conservation, the spacing of young trees, thinning of trees, product quality,
weed control, frequently develop, other industries, distribution of trees.
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Ex.2. Revise the English chains of nouns and translate the expressions from the text.

Wood products government agencies conservation groups
forest regeneration city environment tree nurseries
regeneration projects tree genetics tree inventories
forest management plans  site plans weed control
wildlife conservation watershed protection forest engineers

Ex.3. Translate the sentences with the Complex Object.

1. The forest manager compiled the measures to be included in the reforestation plan.
2. Local authorities observed some private landowners growing pine seedlings for
regeneration projects.

3. They wanted the forester to provide logs for the local sauna premises.

4. The foreman expected his team to increase the output of the wood product.

5. She watched the scientist performing numerous tests with a new fertilizer in his
lab.

6. They expected foresters to be involved in forest mensuration.

7. Henry expects the forest management plan to be approved by Friday.

8. She watched her son watering apple seedlings in the garden.

9. Mr Brown permitted the forester to grow pine saplings near his house.

10. The authorities expect local professional foresters to provide tree inventories
before long.

11. Deputy Governor wanted local foresters to develop new site plans in two months.
12. Foresters are trained to measure the growth of forests, in other words to be
involved in forest mensuration.

Ex.4. Guess the puzzle. Match the English proverbs and their Russian equivalents.

As a tree falls, so will it lie. JlepeBo y3HaeTcs IO €ro ILI0JIaM.
A tree is known by its fruit. Yro moceelb, TO ¥ NOKHEIIb.

All is not gold that glitters. W cTeHBI UMEIOT YIIIH.

Fields have eyes, and woods have ears. KpacHha sironka, 1a Ha BKyC TOpbKa.
Don’t whistle until you are out of the wood. TopablHs npeiecTByeT HaaCHUIO.
The highest tree has the greatest fall. He panyiics npex/ie BpeMEHH.
Time is a great healer. Ha ocTpblii CyK - KpenKuii TOIop.
One fire drives out another. Het npima Oe3 orHsi.

There is no smoke without fire. Bpems — Benmukuii ienuTeb.

TEXT 2. HISTORY OF FORESTRY DEVELOPMENT

PRE-TEXT EXERCISES

Ex.1. Pronounce the words with various letter combinations.
00 [u:] Tool, cool, wool, pool, fool, mook, noodle;

00 [u] book, look, rook, hook, nook, took, cook;

w [w] wet, wine, west, willow, wintry, wise, wade;
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v [v] vet, vest, vessel, vent, velvet, vapour, valiant;
r [r] green, dream, price, grow, throw, thrust, ridge.

Ex.2. Make up the alternative questions using the words in brackets.

1. Formal forestry practices developed during the Middle Ages (the Bronze Age).

2. Management of forest resources has a long history (short).

3. Systematic management of forests has begun in the 16" century (18" century).

4. Schools of forestry were established after 1825 (after 1917).

5. Forestry also includes the development of better methods of planting, felling and
processing of timber (rejects).

6. The pine spruce is very hard to find in the area (the town).

Ex.3. Match the derived adjectives with noun synonyms according to the pattern.
History - historical

culture industrial
industry agricultural
agriculture cultural
administration normal

norm administrational
fate dental

dent fatal

parent hydrological
hydrology parental
psychology stoical

stoic logical

logic psychological
pivot paschal

pasch pivotal

Ex.4. Read the words with mute letters.

h — When, why, whenever, where, while;

w — wrong, wriggler, wrest, wretched, wrestle;

k — knowledge, known, knuckle, knotty, knock;

| — should, could, half, would;

gh —sigh, light, might, night, fight, tight, though.

The management of forest resources started in China, dating back to the Han Dynasty
and taking place under the landowning gentry. In the Western world, formal forestry
practices developed during the Middle Ages, when land was largely under the control
of kings and barons.

Control of the land included hunting rights that were retained by the members of the
nobility. Systematic management of forests is said to have begun in the 16™ century
in both the German states and Japan.
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The practice of establishing tree plantations acquired some popularity in the British
Isles. Schools of forestry were established after 1825. Most of these schools were in
Germany and France. During the nineteenth and early twentieth centuries, forest
preservation programs were established in the United States, Europe and British
India. The enactment and evolution of forestry laws occurred in most Western nations
in the 20™ century in response to growing conservation concerns and the increasing
number of logging companies.

Today a strong body of research exists regarding the management of forest
ecosystems and improvement of tree species. Forestry also includes the development
of better methods for the planting, protecting, thinning, controlled burning, felling
and processing of timber.

One of the applications of modern forestry is reforestation, in which trees are planted
and tended in a given area. In topographically severe forested terrain, proper forestry
is important for the prevention or minimization of serious soil erosion or even
landslides. In areas with a high potential for landslides, forests can stabilize soils and
prevent property damage, human injury and loss of life. Sharp disagreements over the
role of logging drives debate while the public demand for wood products continues to
increase.

Vocabulary

gentry — Mesikoe TBOPSHCTBO

enactment — npuHsATHE 3aKOHA

conservation concerns - mpo6ieMbl OXpaHbl IPUPO LI
hunting rights — mpaBa Ha oxoty

logging company — sreco3arotoBuTenbHas pupma

thinning — mpopexxnBanue epeBbEB

controlled burning — xorTponMpyeMoe BeDKUTaHKE, IETCBON Al
felling — py0Oka, Basika (Jieca)

soil erosion — mo4BeHHAsE HPO3US

landslide — ommon3ens, o6Ba

logging — sieco3aroToBka U TPAHCIIOPTHUPOBKA Jieca
topographically severe — cypoBsiii 1o Tonorpaduun
processing of timber — o6paboTka iecoMaTepranoB
reforestation — neconacaxaenre, BOCCTAHOBJIEHUE JIECOB

to drive debate — BeI3BIBaTH AHCKYCCHIO

property damage — umMyIiecTBEHHBIN, MaTepUATbHBIN YIIIEPO
public demand — oGiecTBeHHBII cIIpOC

Ex.1. Agree or disagree with the following statements.

1. Formal forestry practices developed during the Stone Age.
2. Control of the land didn’t include hunting rights.

3. Schools of forestry were established after 1825.

4. Most of these schools were in Japan.

5. One of the applications of modern forestry is deforestation.
6. Proper forestry can prevent or minimize serious soil erosion.
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7. Public demand for wood products continues to decrease.

8. Forest preservation programs were established in the Arab Emirates.

9. The enactment and evolution of forestry laws occurred in most Western nations in
the 19" century.

10. The management of forest resources started in China.

Ex.2. Revise the Indefinite and Continuous Tenses and choose the right form below.
1. He (waters, is watering) apple seedlings at the moment.

2. Jane (mowed, was mowing) the lawn, when she heard some noise in her house.

3. They (fly, are flying) to Spain next month.

4. Jill always (gets, is getting) up at 9 o’clock.

5. She (knows, is knowing) everything about reforestation, because the subject is her
major.

6. Can you hear the noise? The baby (cries, is crying) in the next room.

7. He (works, is working) full-time every week.

8. The measures usually (are helping, help) to minimize soil erosion.

9. I (want, is wanting) a pot flower as a birthday present.

10. His father (works, is working) in the garden every Saturday.

Ex.3. Revise the adverb formation in English and choose the correct form in brackets.
. Mr Nixon manages the forest very (good/well).
. The sun is shining (bright/brightly).
. The log has a (smooth/smoothly) surface.
. The guy speaks Spanish (fluent/fluently).
. We must figure out our income tax return (accurate/accurately).
. We didn’t want to drink (bitter/bitterly) tea.
. The music sounded too (noisy/noisily) to be classical.
. Paula was working (diligent/diligently) on her reforestation project.
. Your chocolate cake tastes (delicious/deliciously).
10. He smelled the flowers (cautious/cautiously) before presenting them to the
speaker.
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Ex.4. Fill in the gaps with the suitable words in brackets.
. He is a basketball player and he is very (deep, tall, high).
. Animals, birds and people can not live without (warm, sweet, fresh) water.
. Our task is to (live, save, break) forests, because they are in great danger now.
. He is a famous sportsman. He plays (violin, swimming, tennis).
. We can travel along the river or lake in a (train, plane, boat).
. I don’t know for sure, but (often, seldom, probably) he will come in time.
. They changed the American dollars to English (roubles, marks, pounds).
. He gave me a nice present. It was (cut, swallowed, wrapped) in colourful paper.
. If you don’t keep to a diet and don’t go in for sport you’ll become (slim, clever,
fat)
10. Little children should not play with knifes. They may (put, change, cut)
themselves.
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TEXT 3 LOGGING AND METHODS OF LOGGING

PRE-TEXT EXERCISES

Ex.1. Pronounce the letter combinations according to the pattern.
sh [f] Ship, sheen, shin, shy, shrink, shook, shame;

ch [t J] chess, chap, chop, cherry, chamber, chafe, change;

tch [t f] catch, fetch, hatch, match, patch, latch, cratch;

ck [K] black, rack, pack, sack, heck, reckon, beckon;

th [0] theme, thick, throng, thunder, thriller, throne, thrift.

Ex.2. State the functions of the verb “to have”. Translate the sentences.

1. The region has appropriate climate for growing hardwood trees.

2. The forester will have the results of his experiments soon.

3. The tundra has low temperature which leads to less evaporation.

4. The forest management plan has been developed by a highly professional team.
5. The loggers had to delimb the trees and load them on a truck.

6. Submerged forests exist on land that has been flooded to create dams.

7. They had a rare opportunity to participate in the expedition to Lake Baikal.
8. The price of the timber has been estimated at more than 20 000 dollars.

9. He has a large cottage by the forest.

10. The ignition of the forest has been caused by lightning.

Ex.3. Translate the sentences, making up the general questions to each of them.
1. There are some new specialists in the team of loggers.

2. There were many old houses near the forest.

3. There are many places of interest in the wooded area of Canada.

4. There will be various beautiful flowers in the new garden.

5. There is something on the shelf in the kitchen.

6. There was much work for the forester last week.

7. There was nobody in the county forester’s office.

Logging is the process in which certain kinds of trees are cut for timber. Logging
usually refers to above-ground forestry logging. Submerged forests exist on land that
has been flooded to create artificial dams and reservoirs. Ootsa Lake and Williston
Lake in British Columbia, Canada, are notable examples where logging has been
needed to remove vast inundated forests.

The above operations can be carried out by different methods, but the following three
are considered industrial methods: tree-length logging, cut-to-length-logging and full-
tree logging.

In tree-length logging trees are felled and then delimbed and topped at the stump. The
log is then transported to the landing, where it is bucked and loaded on a truck. This
leaves the slash (and the nutrients it contains) in the cut area where it must be further
treated if wildland fires are of concern.
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In full-tree logging trees are felled and transported to the roadside with top and limbs
intact. The trees are then delimbed, topped, and bucked at the landing.

Full-tree harvesting also refers to utilization of the entire tree including branches and
tops. This technique removes both nutrients and soil cover from the site and so can be
harmful to the long term health of the area if no further action is taken. However,
depending on the species, many of the limbs are often broken off in handling so the
result may be similar to tree-length logging.

In-cut-to-length-logging big trees are felled, delimbed, bucked, and sorted
(pulpwood, saw log, etc.) at the stump area, leaving limbs and tops in the forest.
Harvesters fell the tree, delimb and buck it, and place the resulting logs in bunks to be
brought to the landing by the forwarder. This method is usable for smaller timber on
the ground flat enough for forwarders to operate, but does not work well on steep
slopes.

Vocabulary

stump - neHsp, NeHeK

mill — menpHULIA

submerged forest — 3aroruieHHbI Jiec

dam — nam0a

inundated forest — moriMeHHBI Jiec

tree-length logging — eco3aroToBKy ¢ TPEICBKOM W BBIBO3KOH XJIBICTOB
to delimb — ounmaTh OT cyubeB

to top — cpe3aTe BEpXHIOKO 4acTh

to buck — packpspkeBBIBaTh (pacMIIMBATh Ha JIOCKH) OPEBHO

slash — mopyGouHbIi 0cTaTOK

full tree logging — yteco3aroToBKM MOJHOTO JiepeBa (IIEITHKOM)
cut-to-length logging — necozaroroBku ¢ OpeBHAMHU 33 JaHHOW JUTHHBI
pulpwood — GanancoBas ApeBeCHHA

saw log — nmumoBo4HOE OPEBHO

harvester — eco3arotoBuTeIbHAsE MallliHA

forwarder — dhopBapep (camopa3rpyKarouUics TPEICBOYHBINA TPAKTOP)
bunk — mogkmazaka mog OpeBHa

tree thinning — mpopexuBaHue JIeCOHACAKICHUN

steep slope — kpyToii ckiioH

Ex.1. State the topical sentence of each extract in Text 3.
Try to explain why you think so.

Ex.2. Answer the following questions.

1. What does logging usually refer to?

2. What are Ootsa and Williston Lakes notable for?

3. What methods are considered industrial in logging?

4. What is usually done in tree-length logging?

5. How can you describe operations in full tree logging?
6. What is brought to the landing in cut-to-length-logging?
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7. Why can full-tree harvesting be harmful to the long term health of the area?

Ex.3. Revise the Complex Subject and translate the examples into Russian.

. Logging is known to refer to above ground forestry.

. The forester happened to work at the same problem.

. The problem of tree thinning may seem to be too complex.

. The acid seems to have caused soil erosion in the area.

. The new method of reforestation is believed to bring positive results.

. Your experience in forestry proved to be helpful for the report.

. The local authorities are likely to change the layout of logging sites next spring.

. Mr Jones is known to have grown many rare species of trees.

. Alternation of tree species seems to have contributed to intensive tree growth in the
park.

10. This forester is known to be in touch with the latest developments in the field of
soil fertilization.
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Ex.4. Use the right form of Participles and translate the sentences into Russian.

1. They left room without (said, saying) good-bye to anybody.

2. You must have your trees (trimmed, trimming).

3. He watched the gardener (planting, having planted) various seedlings by the river.
4. | saw her in the market (buying, having bought) low shrubs for her lawn.

5. They know the elderly man (living, having lived) next to the forest reserve.

6. (Having sowed, sowing) all the plants, the gardener had a tea break.

7. My friend lives on the fifth floor in a big (apartment, garden).

8. | hear the boy (being scolded, having scolded) by his mother for wasting her
garden hose.

Ex.5. Choose a couple of synonyms to words in the left row.
. To transport (move, take, cook, transfer);

. tree (bush, fashion, conifer, pool);

.wood (timber, song, flame, lumber);

. to prove (to say, to verify, to chase, to confirm);

. branch (plate, offshoot, bough, thunder);

. serious (solemn, heavy, humourless, tender);

. strategy (milk, plan, state, tactics);

. to wash (to reap, to clean, to break, to shower):
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PART 3. TECHNICAL CHARACTERISTICS OF SAWMILLS
TEXT 1. SAWMILLS AND CURRENT TRENDS

PRE-TEXT EXERCISES
Ex.1. Pronounce the words, paying attention to “y”.

y [a1] Life-style, try, dry, apply, by, supply, nullify, qualify, hydrological;
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y [1] happily, slowly, thoroughly, widely, humidity, topography, fantasy;
y [i] yellow, yacht, yummy, yet, young, youth, yonder, yield, yoke, yes.

Ex.2. Add the following prefixes to the words. Translate the formed words.

sub — Conscious, computer, contract, control, soil, divide, merge, floor;

post — acceleration, accident, boost, colonial, condition, coordinate, cure;

de — rail, rate, recognize, reference, regulate, restrict, water, form, formation;
in-, im-, ir-, il- advisable, advertent, legal, essential, efficient, possible, relevant.

Ex.3. Read and translate the words built from 2 roots.

Basin-shaped, rainforest, raingear, well-organized, well-paid, psychoactive,
psychoanalyst, phytobiology, phytochemistry, phytogenesis, phytography, wood-
fiber, woodcutter, wood-cased, wood-eating, wood-meadow, wood-frame, wood-
pulp, wood-panelled, wood-road, wood-sawing, wood-shaving, wood-tar, longline.

In the twentieth century the introduction of electricity and high technology developed
mill proliferation, and now most sawmills are massive and expensive facilities in
which most aspects of the work are computerized. A modern operation will produce
between 100 and 700 units annually.

Small gasoline-powered sawmills run by local entrepreneurs served many
communities in the early twentieth century. A trend is the small portable sawmill for
personal or semi professional use. Many different models have emerged with
different designs and functions. They are especially suitable for producing limited
volumes of boards.

Technology has changed sawmill operations significantly in recent years,
emphasizing increasing profits through waste minimization and increased energy
efficiency. Co-generation facilities will produce power for the operation and may also
feed superfluous energy onto the grid. While the bark may be ground for barkdust, it
may also be burned for heat. Sawdust may make particle board or be pressed into
wood pellets for pellet stoves. The larger pieces of wood are chipped into wood chips
and provide a source of supply for paper mills. Portable mills became popular in the
United States starting from 1970s when the 1973 energy crisis had led to greater
interest in small woodlots.

Vocabulary

proliferation — pacipoctpanenue, poct
gasoline - powered sawmill — neconuika ¢ O€H3UMHOBLIM JABUTaTEIEM
facility — 3aBox, npeanpusitue

unit — equaMIA

entrepreneur — nmpeanpuHUMaTesb, OM3HECMEH
community — oGIIHOCTE, COOOIIIECTBO

t0 emerge — nmosiBisATLCS, BOSHUKATH

board — nocka, manka

profit — npuOBLIH

waste minimization — cokpaiieHue 0TX0I0B
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energy efficiency — apdeKTHBHOCTB HCITONB30BaHMS YHEPTHH
to grind — pa3menpuaTh, mepeMabiBaTh

barkdust — onviiku ¢ coep:kaHueM KOPBI

particle board — apesecHocTpyskeunas rmta, JICIT

wood pellets — npeBecHbIe TOMINBHBIC IPAHYIIBI

pellet stove — nieus, oTamIMBacMas APEBECHBIMU TPAHYIAMH
wood chips — apeBecHas 1miena, CTpyKKa

paper mill — 6GyMakHO-IIEUTIOJIO3HBIN 3aBO.T

superfluous — n30BITOYHBIH, TUITHUI

cogeneration facilities — mnpeanmpustus  KoreHeparuu  (KOMOMHHPOBAHHOTO
IIPOM3BOJICTBA TEILIA U DJICKTPOIHEPTHH )

woodlot — necHoit yuacTok

Ex.1. Agree or disagree with the statements.

1. The introduction of electricity and high technology developed mill proliferation.

2. Most sawmills are small and cheap facilities in which most aspects of the work are
simplified.

3. A modern operation will produce between 100 and 700 units annually.

4. Small gasoline-powered sawmills served many communities in the early nineteenth
century.

5. A trend is the small portable sawmill for personal or semi professional use.

6. The small portable sawmills are unsuitable for producing limited amount of
boards.

7. Technology has changed sawmill operations significantly in recent years.

8. Co-generation facilities will consume power from the operation and feed
superfluous energy onto the grid.

9. Sawdust may be pressed into wood pellets for pellet stoves.

10. Portable mills became popular in the United States starting from 1980s.

11. Sawdust can’t be used to make particle boards.

Ex.2. Make up sentences from the words below.

1. Sawdust particle board is used to make.

2. Most sawmills massive are and facilities expensive.

3. Many models different of sawmills have recently emerged.

4. Technology profits have increased waste minimization through.

5. Co-generation will produce facilities power for the sawmill operation.
6. Portable mills popular became in the States United.

Ex.3. Fill in the gaps with the suitable words in brackets.

1. It was a really wonderful film which (excited, hurt, paralyzed) everybody.

2. The old forester was going to die, because he was (seriously, much, little) ill.

3. The logger cut his finger and noticed some drips of (water, juice, blood) on his
instrument.

4. Mr Gripple, the co-partner of the portable sawmill, is rich and famous, he is a very
(tender, boring, respectable) man.
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5. One must (offend, buy, respect) parents.

6. Linda doesn’t like theatre so she goes there very (seldom, often, usually).

7. One of the two organs of breathing is called a (lung, head, heart).

8. If you want to be a success you should (sleep, eat, work) much.

9. The poacher was put into prison for ten years. His (award, punishment, diet) was
really serious.

10. The son of the forest guard is not very fortunate, he always gets into (abyss,
trouble, fun).

Ex.4. Revise Absolute Participle Construction and translate the sentences below.

1. The humidity being very high, the loggers could not advance very fast.

2. All plants were unique in the area, the growth being accompanied by
disappearance of endangered species.

3. The precious kinds of timber having been shipped by early morning, the team of
loggers could move to another logging site.

4. There being many speakers at the conference, it lasted longer than usual.

5. They took some necessary measurements during pretrial operation of the
excavator, this being the usual practice of those days.

6. The sawmill produces large quantities of finished lumber, most of the lumber being
exported to Europe.

7. All factors having been analyzed, the architects started to develop the final layout
plan of the park.

8. The discussion was over, with many aspects of the problem being unsolved.

9. The climatic change must have taken place, with the data showing dramatic
warming in the region.

10. Weather permitting, the gardener could proceed with his work.

11. Technology has changed sawmill operations, profits increasing through waste
minimization and higher energy efficiency.

TEXT 2. PORTABLE MILLS

PRE-TEXT EXERCISES

Ex.1. Unite the sentences by means of the conjunction “both and” according to the
model.

Model:

Climate influences the forest formation.

Topography influences forest formation too.

Both climate and topography influence forest formation.

1. Russia is rich in pine forests. Finland is rich in pine forests too.

2. Soil compaction is controlled by physical factors. It is controlled by geographical
factors too.

3. High rainfall contributes to rainforest proliferation. Intertropical convergence zone
contributes to rainforest proliferation.
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Ex.2. Find nouns formed by adding the suffix — er.
Heavier, fertilizer, under, sprinkler, discover, sprinter, after, taller, logger, greater,
forester, minimizer, drier, liar, brighter, writer, happier, shifter, faster, browser,
smarter, designer, warmer, clipper, colder, blader.

The first portable sawmills were the “One Farmer's Sawmills." These mills featured
large circular blades and were marketed during the early twentieth century by
companies like Sears, Montgomery Ward and JC Penney. These machines were all
"private label” machines manufactured by the Belsaw Company. Belsaw also sold
sawmills under its own name until the early 1990s.

More recently, portable bandsaw mills represented a dramatic shift in design. Unlike
traditional mills, they used a resaw blade of the type used on a band saw rather than a
circular blade, which reduced weight and cost, and reduced the size and weight of the
bearings and support blocks. The smaller kerf on these blades dramatically increased
the yield from a given log. Use of band blades also prompted different design where
the head, consisting of the blade and a power source, moves back and forth while the
log remains stationary. This is in contrast to traditional mills where the log moves on
a trolley while the blade remains fixed.

Larger mills have recently appeared on the market. They are portable only in
sections. These are faster and can handle larger logs. The portable mills can cut
lumber with speed and accuracy, though the subsequent steps of planing and drying
must still be performed to produce finished lumber. Commodity lumber in standard
sizes can be made this way. Occasionally, this is done. Portable mills are also used
for low-volume production of specialty hardwoods used in furniture.

Vocabulary

portable sawmill — mamorabaputHas nepeABKHAS JISCOMUIIKA
circular blade — nuckooOpa3HbIi HOX

private label — wactHast Toprosas mapka

bandsaw mill — neconuiika ¢ JIEHTOYHBIMH TUITAMA

resaw blade — Hoxx peOpOBOI TTHITBI (17151 TPOIOJIBHON PACTTHIIKK APEBECHHBI)
support block — omopa

kerf — Boagnna Mex Iy 3yObsSMHU UG

yield — 00beM BhIMTyCcKa MPOTyKIHH

trolley — Baronertka, Ape3uHa, TeIEKKa

lumber — muomaTepuasl, CTpOCBOM JieC

band blade — moyoTHO TeHTOYHO# MHJTBI

portable mill - manorabapuTHas jecomnmika

planing — ctporanue, 00paboTKa Ha CTPOTaIbHOM CTaHKE
finished lumber — o6paGoranHast HauKCTO APEBECHHA
commodity lumber — toBapHnas 1peBecruHa

hardwood — TBepas apeBecrHa
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Ex.1. Check your knowledge of the expressions and match the pairs.

1. Portable sawmills IPECTaBIATh H3MCHEHHE

2. resaw blade MaJiorabapuTHBIC MEPEABHUKHBIC JISCOTHMIKH
3. to represent a shift HOK PeOpPOBOI ITHIIBI

4. traditional mills MOCTyIaTh B MPOJAXKY

5. to increase the yield TPaJUIIHOHHBIC JICCOMMIIKH

6. to move back and forth UCTOYHHUK DHEPrOMUTAHHUS

7. power source JIBUTAThCS BIIEPET M Ha3a]q

8. to come on the market YBEIUYUTH O0HEM BBIITYCKA MPOTYKIIHA

Ex.2. Read the text and find arguments to prove the statement: "Portable mills are
different from traditional mills in many ways”.

Ex.3. Translate the second and the fourth extracts of the text in written form.

Ex.4. Summarize the main ideas of Text 8. Discuss the topics.
1. Peculiarities of portable mills in comparison with traditional mills.
2. Output of portable mills.

Ex.5. Revise the English Gerund and translate the sentences below.

1. The high technology system is used for forest thinning.

2. His parents heard of his having been offered the post of the chief forester.

3. Good eating habits can result in healthcare savings between 15 and 20 per cent.

4. The use of underground waters is a way towards solving the problem of water
shortage in hot countries.

5. Technologists agreed to wood-pulp board being used in the cottage construction.

6. Everybody in the team objected to installing the gang-sawing machine.

7. The distance can be adjusted by moving the rails at each end of the mill
attachment.

8. Three local mills have been used in handling larger logs for heating in the area.

TEXT 3. ALASKAN MILLS

PRE-TEXT EXERCISES

Ex.1. Read the expressions and translate them paying attention to attributes.
Predetermined thickness, mill attachment, timber construction, the water content to
be calculated, the problem to be solved, mechanical resistance, consistent depth,
small mill, single chainsaw, large diameter, felled timber, nature-friendly,

the length of the bar, hobbyist woodworkers, to have access to felled timber.

Ex.2. State the functions of “should” and “would” in the sentences. Translate them.

1. The main parts of the tropical plant should be studied more thoroughly.

2. It was evident that the team of scientists would continue their studies of cloud
forests.

3. Lumber standards should be discussed at the conference in June.
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4. He wouldn’t stay at home.
5. He should get a driving license for the job.
6. They would discuss the problems of thinning agents for hours.

Alaskan Mill is a type of sawmill that is used by one or two operators to mill logs
into planks for use in furniture, building and other types of timber construction.

The mill attachment consists of a pair of rails which are attached to bar of the
chainsaw. The rails ride on the face of the log and guide the chainsaw blade through
the log at a consistent depth so that planks of a predetermined thickness can be cut.
The distance between the rails and the bar determines this thickness and it can be
adjusted by moving the rails at each end of the mill attachment.

Small mills use a single chainsaw and can be handled by a single operator. Larger
mills use two chainsaws, and these require two operators. The width of the plank that
can be cut is determined by the length of the bar, so for logs having a large diameter,
the longer bar is necessary.

Alaskan mills are relatively cheap to purchase compared to other types of mill and
are also quite easy to make. They are therefore popular with hobbyist woodworkers
who have access to felled timber.

Vocabulary

to mill — muuTe

plank — Toncras mocka, miaHka

timber construction — nepeBsiHHOE COOpYyKECHHE
mill attachment — Gitox econmiku

consistent depth — coorBeTcTBytOMImIAs rTyOMHA
rail - mepexnaauna

bar of the chainsaw — mooTHO HEMHOM MUIBI
chainsaw blade — HOx 1enTHOM MUIIBI
predetermined thickness — 3amanHast TomHa
purchase — npuobpeTathb

woodworker — mIoTHHK, CTOJISAP

felled timber — cpyOnennas npeBecuna

to purchase - mokymnath, 3aKymnaTh

therefore — mo sToii npuYKHE, TOATOMY

Ex.1. Say what facts attracted your attention in Text 9.
Give arguments to support your point of view.

Ex.2. Find the topical sentence of each extract in Text 9.

Ex.3. Form groups of synonyms from the list below.

1. Organic substance massive rails
2. moisture content popular mill
3. central function water content
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4. well-known mill organic material
5. large rails primary function

Ex.4. Make up sentences with the expressions from the previous exercise.

PART 4. DEFORESTATION AND ECOLOGY
TEXT 1. DEFORESTATION AND ITS ECOLOGICAL IMPACT

PRE-TEXT EXERCISES

Ex.1. Read and translate the following expressions.

Forested area, derived charcoal, human settlement, sufficient reforestation,
greenhouse effect, climate change, normal respiration, carbon dioxide emissions,
cleared land, photosynthesis, stored carbon, new circumstances.

Ex.2. Transform the following sentences according to the pattern.

Model: You must revise the rule. You are to revise the rule.

1. The forester must have extensive knowledge of local flora and fauna.

2. We must do everything possible to protect endangered species of flora.

3. He must know all necessary conditions for reforestation procedure in the area.

Deforestation is the logging and burning of trees in a forested area. There are several
reasons for doing so: trees or derived charcoal can be sold as a commodity and are
used by humans while cleared land is used as pasture and for human settlements. The
removal of trees without sufficient reforestation has resulted in damage to habitat,
biodiversity loss and aridity. Also deforested regions often degrade into wasteland.

Deforestation is a contributor to global climate change, and is often cited as one of
the major causes of the enhanced greenhouse effect. Tropical deforestation is
responsible for approximately 20% of world greenhouse gas emissions.
Deforestation, mainly in tropical areas, accounts for up to one-third of total carbon
dioxide emissions. Trees and other plants remove carbon from the atmosphere during
the process of photosynthesis and release it back into the atmosphere during normal
respiration. Burning of woods discharges much carbon to the atmosphere.

Reducing emissions from the tropical deforestation can contribute to ongoing climate
policies. The idea consists in providing financial compensations for the reduction of
greenhouse gas (GHG) emissions from deforestation and forest degradation.

The world’s rain forests are widely believed by laymen to contribute a significant
amount of world's oxygen although it is now accepted by scientists that rainforests
contribute little net oxygen to the atmosphere and deforestation will have no effect on
atmospheric oxygen levels. However, burning of forest plants in order to clear land
releases tons of CO, which contributes to global warming. Forests are also able to
extract carbon dioxide and pollutants from the air, thus contributing to biosphere
stability.
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Vocabulary

deforestation — BeIpyOKa, yHUUTOKEHHE JIECOB
burning — (3meck) Bo3ropaHue JecoB

derived charcoal — npou3BoaHbI IpEeBECHBIH YTOJIb
human settlement — HaceIeHHBIN TYHKT

aridity — 3acynuiMBocThb

reforestation — yiecoBoccTaHOBIICHUE

contributor — coxeticTByromuii GpakTop

wasteland — mycTeIps, mycToIIH

greenhouse effect — mapaukoBbIid P PeKT
greenhouse gas emissions — BEIOPOCHI TAPHUKOBBIX T'a30B
to account for — ObIT, IBIATHCS IPUIHHOMA

to release back — (3necr) Bo3Bpamars

respiration — gpIxaHue

to contribute to — crocobcTBOBATE, COAEHCTBOBATH
climate policies — nonuTrka o KIUMary

financial compensation — renexxHast KOMIIEHCAIUS
forest degradation — BeIposK/ICHHE JIECOB

layman — Henpodeccronal, TuiieTaHT

0Xygen — KUCJIOPOJ

global warming — rio6aapHO€E MOTEIICHUE
pollutant — 3arpsi3HsoIIEe BEIIECTBO

biosphere stability — mocrostHcTBO, ycTOWYNBOCTE OHOCHEPHI

Ex.1. State if the following statements are true or false.

1. Deforestation is the logging and burning of trees in a forested area.

2. Trees or derived charcoal can be used in making human dwellings.

1. The removal of trees without sufficient reforestation has resulted in damage to
habitat, biodiversity loss and aridity.

4. Deforestation is a contributor to global climate stability.

5. Tropical deforestation is responsible for approximately 20% of world greenhouse
gas emissions.

Ex.2. Answer the following questions.

. What is deforestation?

. What reasons are there for deforestation?

. What has resulted in damage to habitat, biodiversity loss and aridity?

. Deforestation is a contributor to global climate change, isn’t it?

. What can you say about tropical deforestation?

. What happens during the process of photosynthesis?

. What can contribute to ongoing climate policies?

. What is believed by laymen to contribute a significant amount of world’s oxygen?
. Will deforestation have effect on atmospheric oxygen levels?

10. How are forests able to contribute to biosphere stability?

11. What discharges much carbon to the atmosphere?

O©CoOo~NOoO Ul WN -
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Ex.3. Fill in the gaps with the suitable words.

1. Deforestation is a (donation, gift, contributor) to global climate change.

2. Deforested regions often (worsen, humiliate, degrade) into wasteland.

3. It is often cited as one of the (senior, superior, major) causes of the enhanced
greenhouse effect.

4. Deforestation (explains, clears up, accounts for) up to one-third of total carbon
dioxide emissions.

5. Trees and other plants remove carbon from the (sky, heavens, atmosphere) during
the process of photosynthesis.

6. Burning of forest plants in order to clear land (discharge, liberate, releases) tons of
CO,,

Ex.4. Revise the English Participles and translate the sentences into Russian.

1. Derived charcoal can be sold as a commaodity to different foreign countries.

2. Having questioned the chief forester several times the prosecutor no longer
doubted his testimony.

3. She heard the weather forecast being announced in a news bulletin at 6 p.m.

4. Burning of wood releases much of stored carbon back to the atmosphere.

5. If changed, the compensation agreement will be accepted by the city council.

6. Money saved is money gained.

7. Mr Jones will have his garden fertilized next week.

8. The logger’s activity being heard all over the area provoked much agitation among
local residents.

9. He went along the narrow forest path not knowing where to turn.

10. The children could hear the rain coming through the roof.

11. Having been felled by three loggers the pine tree was taken to the truck.

12. Having been invited to the party he decided to buy a new suit for the occasion.

13. She was really busy planting new flowers in her garden.

TEXT 2. MY SPECIALITY

| am a second year student of the Tver State Technical University. | study at the
Forestry Department of the University. My future speciality is forestry equipment and
its maintenance.

Forestry is the art and science of managing forests, tree plantations and related
natural resources. Modern forestry generally concerns itself with providing timber as
raw material for wood products, recreation and community protection. A practitioner
of forestry is known as a forester.

Nowadays forestry is an advanced branch of industry that involves highly qualified
specialists and complex methods of tree logging. The process of logging is carried
out while using three industrial methods: tree-length logging, cut-to-length-logging
and full-tree logging.
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Full-tree logging refers to utilization of the entire tree including branches and tops.
The method of cut-to-length-logging is usable for smaller timber on flat ground. The
work is usually fulfilled by a team of loggers equipped with modern circular and
cylinder saws as well as other machinery such as yarders, skylines and forwarders.
All the mechanisms are controlled by operators who must adhere to high professional
standards.

That’s why it is necessary for us as future specialists in the field to study different
subjects such as physics, mathematics, descriptive geometry, applied mechanics and
others. We also acquire practical skills in assembling and test run of machines. Our
course of study lasts 5 years. Graduates are given a qualification of a maintenance
engineer. After graduation we can work at different plants and supply organizations
related to forestry. Our speciality gives us a rare opportunity to find jobs even in the
times of economic downturn.

Vocabulary

maintenance — Texo0CTy)KUBaHUE

natural resources — npupoaHbBIC PECYPChI

related — cooTBeTCTBYIOMINI

to concern with — 3aaumartbcs 4eM-1u00

raw material — ceipbeBOit MaTepua

community protection — 3ammra coo0IecTBa

practitioner — mpakTUKYIOMIHIA CIICTIHATACT

tree logging — J1eco3aroToBKU

full tree logging — yteco3aroToBKM MOJHOTO JiepeBa (IIEITHKOM)
cut-to-length logging — necozaroroBku ¢ OpeBHAMU 3aJJaHHOW JTHHBI
circular saw — kpyrias nuia

cylinder saw — nunmuHApUYEcKas nuia

yarder- kpaH s YKJIaJKH JPEBECUHBI

skyline — TpesieBoYHas yCTaHOBKA C HECYIIIUM KaHATOM

forwarder - popBapaep (camopasrpyKaroIIuics TPEICBOYHBINA TPAKTOP)

Ex.1. Answer the following questions.

. What is your future speciality?

. What does forestry concerns itself with?

. Who is known as a forester?

. What does full-tree logging refer to?

. What is cut-to-length logging usable for?
. What subjects do you study?

. Do you acquire any practical skills?

. How long does your course of study last?
. Where can you work after graduation?

CONO O O WN B

Ex.2. Translate into Russian paying attention to the non-finite forms.
1. The forester should have watered the seedlings several times.
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2. The experimental plants having been grown, we can recommend them for
reforestation in the area.

3. Being an efficient practitioner Dr. Jones was quite well-known in his county.

4. Any body heated to a high temperature can become a source of heat and light.

5. The data processed after the experiment was really significant.

6. He has demonstrated extensive skills in using the computer.

7. My friends acquired practical skills in assembling and test run of machines.

8. After graduation he found a well-paid job related to forestry.

PART 5. ADDITIONAL TEXTS
Caring For Your Woodlot

In this age of environmental concern, keeping your own little nook of the woods
healthy is more important than ever. Your woodlot, whether it is only an acre or two
or several hundred acres, is home to a wide variety of wildlife and native plant
species. Of course, you are also interested in getting good quality firewood and
lumber from your woods in the future. All of this can be possible with proper care for
your woodlot.

Your specific priorities in woodlot care will depend on private goals for your forest.
Are you more interested in producing firewood or creating good habitat for wildlife?
Do you use your woods for recreation, such as hunting or hiking? Each of these
priorities will require slightly different management techniques, but there is much in
common among the different approaches.

One thing you may wish to do is plant more trees around the periphery of your woods
in order to make the lot larger. If you can, plant them so that they link up with other
large tracts of forest. The value to this practice is in providing quality habitat for
many species of wild animals. Many animals require a large territory for safety and
food.

When you plant trees, be sure to choose native species. These are suited to the
environment and will not bring unwanted pests. Also, if you wish to encourage
wildlife to stay in your woods, choose trees like walnuts and black cherry that
provide something for animals and birds to eat.

If you are harvesting firewood, it is good to first choose the smaller trees that are
competing for space. By thinning the trees, you can allow your trees to grow more
efficiently.

If you plan to sell your timber from time to time, proceed cautiously and learn the
lingo. Choose your loggers carefully and be sure they understand what your goals are.
It is wise to write up a woodlot management plan to give yourself a plan for the next
five, ten, or twenty years. Consult a professional forester if you need help writing up
this plan.

(1.627printed characters)

31



woodlot — yiecHO# y4acToK, yroibe

habitat — cpena oouTanus

native Species — MeCTHBIC OPOIbI, BUIbI

pest — BpeiuTeb, mapasuT

lingo — crermanbHbIi (IpodecCHOHABHBIN) A3BIK
black cherry — Burss nTuubs

compete — copeBHOBAThCSI

walnut — rperkuit opex

Splitting Firewood Safely

Heating a home with wood requires a lot of physical labor. One of the more strenuous
parts of burning wood is splitting the firewood. It is essential to split those sections of
wood that are very thick in diameter. Sometimes they won’t fit into your stove until
they are split. If you cook with wood, you must split it into fine strips or “cook
wood.”

The first safety rule for splitting wood is to dress for the job. Always wear eye
protection, because it is possible for a splinter to fly out and cause you to lose an eye.
Wear sturdy pants and solid shoes. Use work gloves, too. This is not a job to be done
in flip-flops and shorts!

Tools for splitting firewood include an axe and a splitting maul. A heavier axe works
better with larger wood, and a splitting maul is needed for the largest pieces. A good
axe for splitting wood has a head of about 5 pounds, while a maul’s head weighs
about 6 to 8 pounds. Choose the heaviest one you can swing fast. The impact is what
causes the wood to split. If the tool is too heavy for you, you won’t be able to come
down fast and hard on the wood.

Beginners sometimes break their axe handles while spitting wood, so be careful about
your technique. Another thing that can happen is that the maul can get stuck in the
wood. One way to get it out is to strike the outer end of the maul head with a sledge
hammer until the wood goes ahead and splits. If an axe gets stuck, rock it in the
direction it is stuck and not side to side to dislodge it. Never lift it above your head
while it is stuck! The wood could fall off the axe and hit you.

There are a few other safety considerations when splitting wood. Keep your eyes
open for poisonous spiders or snakes that might be hanging out in the woodpile.
Make sure other people, especially children, stay clear of where you are working.
Always work at wood-splitting with a companion, and stop working before you get
too tired.

(1.574 printed characters)
Strenuous — >HEPrUYHbIN, yCEPAHbIN
eye protection — cpecTBO IS 3alUTHI TJ1a3
splinter — memnka, TydnHa
flip-flops — cnantpr
axe — Torop
splitting maul — packasbiBaroIuii MOJIOTOK
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to dislodge — mepememars, ciBUTaTH
sledge hammer — ky3He4HBII MOJIOT
safety considerations — cooOpakeHHs 10 TEXHUKE 0€30IMaCHOCTH

Proper Firewood Storage Improves Efficiency

Everyone loves the cozy warmth of a fire in the fireplace or woodstove. In order to
get the best value from your wood, proper storage of firewood is a must. If you store
firewood poorly, it is likely to rot, stay wet, grow moss, or show other signs of decay
that render it less efficient in the stove. So what are the basics of firewood storage?

One of the most important principles of proper storage is that air should circulate
around the sticks of wood. It helps to have pallets or concrete blocks arranged
underneath the stack of wood. Alternate the direction of the sticks from layer to layer
to increase the air flow.

Another important principle of proper storage of firewood is that the wood pile must
be at least ten feet away from the house. A stack of firewood is a popular nesting
place for little rodents and insects, and if the pile is too close to the house, these
varmints can become a problem in the house.

Firewood should be able to dry out before it is used. It is a good idea to buy your
firewood the spring before you plan to use it so that it can have the warm dry months
of the year to dry or “season.” Green firewood, which is wood that is freshly cut, can
be burned, but because it has a large percentage of moisture in it, it is hard to get
started, and can lead to creosote build-up in the chimney or stovepipe. Proper storage
of firewood is no mystery. Just keep it in a dry, airy location away from the house for
best results.

(1.218 printed characters)
woodstove — npoBsiHas Ie4Yb
to rot — ruuTh, OTMHUpPATH
t0 grow moss — IOKpbLIBATHCS MXOM
pallet — muiatdopma, cremmax
rodent- rpeI3yH
fireplace — xkamun
layer — croii, miact
creosote build-up — HakomeHne Kpeo3oTa
stovepipe — 1pIMOXO0/1, JKeJIe3Has JbIMOBast TpyOa
mystery — talina, 3arajka

Buy Your Lumber From Local Woodlots

Considering the price of gasoline, it makes sense to buy things that are locally
produced. This applies to farm products, of course, but it also applies to lumber for
building and wood products. There are many reasons to buy lumber grown in local
woodlots and milled locally. The first to come to mind is the savings in fuel
consumption and air pollution when the trucks hauling the logs don’t have to travel
so far.
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Another reason not to transport logs or lumber over long distances is that it can
spread insects and diseases that attack and kill trees. Locally milled wood doesn’t
bring any new critters into the area, while imported lumber can.

If you are fortunate enough to have your own woodlot, you can hire a woodcutter
with a portable sawmill to come to your woods and mill your trees into the types of
lumber you need. Otherwise, check you local directory for information about local
woodlots and locally milled lumber in your area.

(808 printed characters)
to mill — pacnmBaTh IECHON MaTepua
fuel consumption — morpebnenue TorumBa
critter — cymectBo
directory - cripaBoYHHK
imported lumber — ummopTHpyeMBIii JIecoMaTepral
to mill — muuTh Nec

Waste Wood Fire Logs

As people look for renewable sources of heat, sometimes a remarkably good idea
comes along. Waste wood manufactured fire logs are one such idea. Made from
sawdust, wax, and recycled wood, manufactured fire logs are a great way to reuse
things that would otherwise end up in a landfill somewhere. And wood products are
definitely renewable.

Waste wood manufactured fire logs differ in how they are made according to brand.
Some brands are made with environment in mind, while others are treated with
pollutant chemicals to make them burn well.

Waste wood manufactured fire logs are easier to use than wood in several ways.
Obviously there is the fact that you don’t have to go out and cut them! It is known
that regular logs are messy to use. They bring dirt, debris, and sometimes even insects
into the house, making the house harder to clean. Then you have to work at starting
the fire. Finally, you have to clean the ashes out of the stove or fireplace on a regular
basis.

Manufactured logs eliminate almost all of this hassle. Purchase the paper wrapped
logs at the store and pile them near the stove in a pretty basket. Then when you need
a fire, simply light the paper wrapper and the log will burn evenly like a big candle.
(Do follow the manufacturer’s instructions.) Very little ash will be left over, making
cleaning up after them very easy.

Your chimneys will thank you, too. Fire logs have been found to cause only a fourth
of the creosote build-up of regular logs. This makes them safer and reduces the
chances of a chimney fire. For best results, look for the term “UL Listed” on the
package. This means that they have been classified for safety. For use in wood stoves,
look for manufactured logs that do not include wax in the formula. They should be
made of sawdust only.
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For best results use an EPA certified wood stove, and make sure you have a chimney
sweep clean your chimney on a regular basis. Both of these measures will greatly
reduce the amount of emissions you put into the air with your wood stove.

(1.681 printed characters)
waste wood — apeBecHbBIE OTXO/IbI
renewable sources — BO30OHOBIIIEMbIE PECYPCHI
manufactured firelogs — mpomeliiieHHBIE APOBa
recycled wood — nepepaboTanHas 1peBeCHHA
WwaX — BOCK
landfill — cBasika (Mycopa)
debris — oM, ocraTku, Mmycop
pollutant chemicals — 3arpsi3HstonE XUMHUKATHI
creosote build-up — nakomnenne kpeozora
EPA — YmpaBnenue no oxpaHne oKpy>Karoiei cpebl
sawdust — onuiIKu
to reduce — cokpaiaTh, yMEHbIIIATh

The Responsibilities Of A Forester

A young person who enjoys science and nature, and is interested in ecology, could be
a good candidate for becoming a forester. There are many different specialties a
student can pursue when preparing for a career in forestry.

Some foresters are employed by private industries, such as paper producers or
companies that make wood products. These foresters use their knowledge of the
forest to plan how and where the timber can be harvested in order to make the most
profit without harming the ecology of the forest or its wildlife. They must have a
good understanding of the chemistry involved in making trees into paper or wood
products.

Other foresters are employed by state and government agencies to look after public
lands, state parks, and national forests. They may be involved in enforcing hunting
and fishing regulations. The responsibilities of a forester depend on their specialty.
For instance, a forester can specialize in recreational uses of the outdoors. This type
of forester may be responsible for educating people who visit state parks about the
wildlife and plants found there. Some foresters even lead outdoor activities as therapy
for troubled youths.

Urban foresters help keep trees in urban areas safe and healthy. They may oversee the
trimming of trees in city parks and public areas. They may also do educational work,
helping homeowners choose the types of trees that would suit their area.

To prepare for a career in forestry, a student should take courses in math, biology,
and agriculture. A forester has the opportunity to spend his life doing something that
is beneficial to the well-being of people and wildlife. What better occupation for
someone who enjoys the forest?

(1.454 printed characters)
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specialty — cnenuanuzaus

to pursue — 3anumatbcs, U30paTh cBoei npodeccueit
to have a good understanding — xoporiio pa3oupaTbcs
public lands- o0OmiecTBeHHBIC 3eMeIbHBIC TUIOIIAIN
fishing regulations — pesxum prIOOIOBCTBA
recreational use - ucrosb30BaHKE B PEKPEAITMOHHBIX HIEIISIX
outdoors — BHelIHee MPOCTPAHCTBO

troubled youths — npo6ieMHBIe TIOAPOCTKH
well-being — Giarococrosiaue

to harm- mpuuuHsITE Bpen, ymepo

to oversee — HaOIIOAATH, CICIUTH

beneficial — 6maroTBopHBIiA, OJ1aroXeaTeIbHBINR
opportunity- BO3MOKHOCTh

occupation - 3aHsTue

PART 6. GRAMMAR

[IPUYACTUE (PARTICIPLE)

[Ipyyactne — HenuuHas (opMa IJarosa, COYETaroIlas CBOMCTBA TJaroJa,
MPUJIAraTeIbHOro U Hapeuus. B aHTIIMIICKOM SI3bIKE CYIIECTBYIOT JIBa IPUYACTHS.
Participle | (omo xe — Present Participle) — npuyactue | wiam npuuactue

HaCTOAIICTIO BPCMCHH.

Participle Il (ono »xe - Past Participle) - mpuuactre Il wnm npuuactue

nmpomeamero BpEMCHU.

B cBoro ouepenp 3TH mpuyactus uMeroT Gopmy aerictButensHoro (bringing,
having brought) nnu ctpanarensroro 3amora (being brought, having been brought).
Tarxoke nmpuyacTusi OBIBAIOT MPOCTBIC, TO €CTh COCTOSIIUE U3 OJHOTO CJIOBa,
CJIOJKHBIE, COCTOSIIIHME U3 ABYX- TPEX CJIOB (CM. CIICAYIOIIYIO TaOHILY).

INDEFINITE Ving being V
Participle | PERFECT having V3 having been V3
Participle 11 V3

B 3aBUCHMMOCTH OT CHMHTaKCHMYECKOW (PYHKIIMU B MPEAJIOKECHUH MPUYACTUE
MOXET TMEPEBOAUTHCS HA PYCCKUM A3BIK MPUYACTHEM, JCCNPUYACTUEM WIIU

COOTBCTCTBYIOIIHUM IIPUIATOYHBIM ITPCIOKCHUCM.

Tabauya mooeneii nepesooa anenutickux npuvacmuti | u |l

CTyneHTsl, JleiicTBue mpuyacTust
Students translating the new article | nepesoosimue 31y | coBnagaer C
are excited and happy. HOBYIO CTaThio, | ICHCTBUEM TJIaroJja-

B3BOJIHOBAHbI U | CKa3yemMoro
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CUYaCT/IUBEI.

CTyneHTsl, o
JleyicTBUE NIpUYACTUA
nepegoousuiue 3Ty

The students translating the new COBIAACT C

. . HOBYIO CTaTbIO, o
article were excited and happy. et B3BoMHOBamL, | ACHCTBUEM  Taroia-

CKa3yeMoro
Y CYACTJIUBBHI.
llepesoos 3T .
P Y JleiicTBue mpuvacTus
: : : HOBYIO CTaThIo,
While translating the new article COBIIaIacT C
i CTYJICHTHI ObLIH o
students were excited and happy. JCHCTBHEM TJjiaroJa-
B3BOJIHOBAHBI u
CKa3yeMoro
CYACTJIUBBI.
Coenas nepegoo
Having translated the new article the | sToit HoBoO#i cTaThH,
e . . ITocnenoBaTenbLHOCTE
students were satisfied with their | ctyaenTs obum | g
JICHCTBUM.
work. yJIOBJIETBOPEHBI
CBOCH paboTOMH.
CTyneHTsl,

JleticTBue mIpuYacTus
coenasuiue epeBo/

The students who had translated the . . MIPEIIECTBYET
. : 9TOI HOBOI CTATbU, o
new article were excited. o JIECTBUIO TJaroJja-
CKa3yeMoro.
B3BOJIHOBAHEL.

Taxke ciemyer oOpaTuTh BHHUMaHMEe Ha Mojenu mepeBoga Participle | B
CTpaJaTelIbHOM 3aJ10re:

1. The new equipment, being used by the loggers, is very efficient.

Ilepswiii sapuanm nepesooa:

HoBoe oOopyaoBaHue, ucnonvzyemoe 3TUMHU JecopyOaMu, SIBJIS€TCS BEChMa
3 PEKTUBHBIM.

Bmopoti eapuanm nepesooa:

HoBoe obOopynoBanue, komopoe ucnonv3yom 3T JIeCOPYObl, SIBISETCS BeChMa
3 PEKTUBHBIM.

2. Having been introduced extensively in forestry, the new equipment brought
additional profit to loggers.

Ilocne mozo xax B NECHON MPOMBINIJICHHOCTH CMaiu IMUAPOKO 6HeOpsamb HOBOE
00opyI0BaHUE, OHO TIPUHECIIO OMOJHUTEIBHYIO TPUOBLITH JIecopyOam.

CrnoxxHble TPUYACTUS BBINOIHSIIOT B MPEUIOKEHUU, KaK TMPaBWIO, (YHKIIHIO
00CTOSTENHCTBA U 0003HAYAIOT JOMOJIHUTENIbHBIC ACHCTBUS, KOTOPHIE COBEPIIAIOTCS
MOJIJIEKAIINM, WIM KOTOPBIE IMOJJIEKAIIEE CaMO COBEPIIACT HapsALy C JCUCTBUSIMH,
0003HauYEHHBIMHU CKa3yeMbIM. [lepeBoauTh Ha PYCCKUU S3BIK MPUYACTHBIA 000POT,
o0pa3yemblii  CJIOKHBIMU  MPUYACTHSIMU  CTPAJATEIBHOTO  3ajiora,  JIydIle
MPUJIATOYHBIM TPEAJIOKEHUEM, TEePBOHAYATIBLHO YSACHHUB [JIsi Cce€O0sl CBSI3b MEXKIY
JNIEUCTBUAMMU.
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COMPLEX OBJECT WITH PARTICIPLE |

HpI/I‘IaCTI/Ie B COUYCTAaHNHN C CYIICCTBUTCIbHBIM HJIM MCCTOMMCHHCM B 06’I>€KTHOM
MagciKe MOXKCT BXOAUTb B COCTAB IMPUYACTHBIX 060p0TOB, BBIIIOJHAOINUX POJIb
CJIOZKHOI'O JOITOJIHCHMUA.

O60pOT «CJIO}KHOG AOIIOJIHCHUEC C IIpUYaCTHCM  HACTOAIICTO BPEMCHN»
yrnotpebsieTcst mocie ciaeayromux riarojos: to feel, to hear, to find, to listen, to
look, to notice, to see, to watch.

Ha pycckuii 3bIK Takue 000pOTHI NEPEBOAATCS MPUAATOUYHBIMH MPEAJIOKEHUIMU
C COIO30M KAK N endcojlOM-CKA3YeMbIM HECOBEPULIEHHO20 614061.

She heard the forester asking numerous questions on the phone.

Omna cnplmana, KaK JecHu4ull 3a0asadl MHOTOYUCIICHHBIC BOIIPOCHI TI0 TeledOoHYy.

[TpuuactHbii  000poT «ClOXKHOE OMOJIHEHHE C MPHUYACTHEM HACTOSIIErO
BPCMCHHN» ITOKA3bIBACT ,HeﬁCTBHG B IIPOLECCCC €T0 COBCPUICHUA.

COMPLEX OBJECT WITH PARTICIPLE Il (PAST PARTICIPLE)

Cr0XKHO€ JIOTIOJTHEHHE C PUIACTHEM ITPOIISANIET0 BPEMEHHU MIPEICTaBIISET COO0H
COUCTAaHWE CYIIECTBUTEIBHOTO WM MECTOMMECHHS B OOBCKTHOM TAJCKE C
MPUYACTHEM TIPOIICIIETO BPEMEHH. DTOT 000pPOT YHOTPEOISETCS MOCIe TIarojioB;
to have, to get, to want, to wish, to watch, to hear, to see, to find.

You must have your hair done. — Bsl 10/KHBI TOCTPUAYBCS.

| want my car serviced now. — 51 xo4y, 4TOOBI MO0 MAIIMHY OOCITYKUJIH ceildac.

Ortotr obopor ¢ rimarojoMm to have (to get) mcmomb3yercss Uil 00O3HAYCHUS
JCHCTBHS, KOTOPOE COBEPIACTCS HE CAMHM ITOJICKAIINM, a IPYTHM JIUIIOM TSl HETO
WM 3a HeTO.

He had his money stolen on a train. — Y Hero ykpaju I¢HbIY B MOC3]IC.

Ilpumeuanue: B 5TON KOHCTPYKIIMHM BO3MOXHO yroTpebnenue npudactus |l
MOCJIC IJIaroJIoB YyBCTBEHHOTO BOCHPHUATHS U Tarosa to find:

She found him wounded. — Ona oGHapy>KuIIa, 4TO OH PaHEH.

| saw the child taken home. — {1 Buzen, uto peOeHKa OTBEIHM JOMOIA.

They found the table laid for the feast. — Ouu oOHapyXUJIH, YTO CTOJ HAKPHIT K
MIPa3HECTBY.

T'EPYHJIUH (GERUND)

Gerund (repyHauii) sBIsIETCS HENMYHOM (POpPMOIl rinarosia, KOTopas cOYeTacT B
ceOe CBOWCTBA IIarona M CyImIECTBUTENBHOTO. DOpMBI TepyHAWsS COBMANAIOT C
dbopmamu mpuyactus Hactosiero Bpemenu (Participle I).

Gerund INDEFINITE Ving being V3

PERFECT having V3 having been V3
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Ilepen repyHanemM 4acTo CTOST:

1. IMputsxarenpHoe MectrouMenue (My, his, her u np.) wim cymiecTBUTENbHOE B
npuTsDKaTelIbHOM najexe. Hanpumep:

She forgot about her passing the driving test.

Omna 3a0bli1a 0 c1aue CBOEro TeCTa Ha BOXKJICHUE.

Mrs Jones was happy with her son’s entering the University.

Muccuc JloyHc Oblla cyacTiiMBa B CBSA3M C IIOCTYIUICHMEM €€ CblHa B
YHuBEPCUTET.

2. IIpennor (by, of, after, before u np.). Hanpumep:

He never dreamed of going to Spain.

OH HUKOTJIa HE MeuTall 0 oe3/ke B Mcnanuio.

3. I'maronbl Hauana-3aBepmieHus nedcteus (to begin, to start, to continue, to
commence, to finish, to end, to stop u np.). Hampumep:

They started investing adequate amount of money in this business.

OHu HavaJId BKJIA/IbIBATh HEOOXOAMMOE KOJTUYECTBO JICHET B 3TO MPEANPUSITHE.

4. OrpunarensHoe mectoumenrie NO. Hanpumep:

NO ENTERING. The area is dangerous.

Bxox BocmperieH (He BxoauTh). OnacHas 30Ha.

BaxxHo yMmeTh OTiaM4YaTh TepyHAMM OT mpudactus |, Tak Kak WX 3HAYCHUS
paznuyHbl. B pycckom s3bike (OpMBI, aHAJIOTMYHOW TEPYHIUIO, HET, TMOITOMY
TEPYHIUM MOXHO IE€PEBOJUTH IIO-Pa3HOMY, B 3aBUCHUMOCTH OT KOHTEKCTa:
CYILIECTBUTEIbHBIM, HEONIPEACICHHON (PopMON Tiaronia, JeenpruyacTUeM U TJIarojioM
B JHUYHOU Q)opMe, CCJIM IIEpCa HHUM HMCCTCA IPUTKATCIBHOC MCCTOMMCHUE WIIA
CYHmCCTBHUTCIIBHOC B IPUTAKATCIIbBHOM ITAACIKCE.

['epynauii 0e3 mpeajora MOKET BBIOJHATh B MPEIJIOKEHUN CHUHTAKCHYECKUE
(GyHKUIHHA:

1. Tlonnesxarmero.

2. Yactu cka3zyemMoro (MMEHHOW 4acTH CKa3yeMOro WM BTOPOM YaCTHU COCTaBHOTO
IJ1aroJIbHOTO CKa3yeMoro).

3. IIpsiMoro JOMOJTHEHUS.

["epyHuii ¢ MpeaIoroM MOXKET BBITTOTHATH (PYHKITUH:

1. Onpenenenus.

2. IlpensioxKHOTO JOTIOJIHEHMUS.

3. O06crosTenbeTBa (BpeMeHH, 00pa3a JACHCTBUS, 1IEIH).

MHOUHUTHUB (INFINITIVE)

INDEFINITE to V to be V3
CONTINUOQUS to be V ing -

PERFECT to have V3 to have been V3
PERFECT to have been Ving -
CONTINUOUS
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Aneopumm nepesooa uHguHuUmMUBA 8 3a8UCUMOCTU OM €20 hOpMbl

HeomnpeaeneHHo  ¢opMoit  riarosia

Indefinite Active (to V) (COBEpIIIEHHOTO WM HECOBEPIICHHOTO
BHJIa) B HACT. WJIK OyAyIlleM BpEMEHU
JIOTTOJTHUTEIBHBIM IPUAATOYHBIM
Indefinite Passive (to be V3) NPEJIOKEHUEM, KOTOpOE HAYMHASTCS
COI03aMU Ymo, 4mobvl
JIOTTOJTHUTEIbHBIMH IPUAATOYHBIMU
Perfect Active (to have V3), Passive (to | mpemioxkeHUsIMH, B KOTOPBIX (OPMBI
have been V3) UHOUHUTHBA TEpPEAAOTCS  IJIarojaMu

Impomeamero BpCMCHN

HeomnpeaeneHHo  ¢opMoit  riarosia

Continuous (to be Ving) HECOBEPIIEHHOrO BUa

rj1arojJioM HacCTOAICTO WK ITPOMICAIICTO

Perfect Continuous ( to have been Ving) BpeMeHI (HECOBEpIICHHOTO Bia)

1. I want to write the article tomorrow. - fI xody HammcaTh 3Ty CTaThIO 3aBTpA.

2. | want to be answered at once. — £ xo4y, 4ToObI MHE OTBETHIIH CPa3y Ke.

3. We are happy to have taken part in the conference. — MbI cuacTIUBBI, YTO
MIPUHSUIN YYaCTUE B ATOUM KOH(PEPEHIINH.

4. Mike was happy to have been offered such an interesting job. — Maiix ObL1
CYACTJIUB, YTO MY IPEIJIOKUIN TaKyl0 UHTEPECHYIO paboTy.

5. He knows his students to be studying in the library. — On 3HaeT, 4TO €ro CTyACHTHI
3aHUMAIOTCS B 3TOM OMOIMOTEKE.

6. | am glad to have been working at the plant all these years. — S pax, uto paborato
Ha 3aBO€ BCE 3TU I'OJHbI.

7. 1 remember to have been living in the Caucasus for two years before War 11 broke
out. — A momHIO, yTO A xMn Ha KaBkaze nBa roma no Hawyana Bropoi mMupoBoi
BOHUHEI.

HE3ABUCHMBII TIPUYACTHBII OBOPOT (ABSOLUTE PARTICIPLE
CONSTRUCTION)

He3aBucuMeblil mpu4acTHBIE 000POT — 3TO MPUYACTHBIA 000POT, UMEIOIIUI CBOE
«IOJIEXKALES.

He3aBucuMmeblii  mpuyacTHbIi  000pPOT  pacmo3HaeTcs B NPEIJIOKEHUU 110
CIEAYIOLINM MPU3HAKAM:

1. Umeetcs cBoe mouiexaiiee.

2. BMecTo ckazyeMoro npuyactue.

3. BrinensieTcst 3arsiTon.

Ilpasuno nepesooa: mpuYacTUE TEPEBOAUTCS TIyarojoM. HezaBUCUMBII
MIPUYACTHBINA 000POT MEPEBOAUTCS MPUIATOYHBIM MPEJIOKEHUEM C OTPEICTICHHBIMU
COI03aMH.
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1.Ecntu  000pOoT HaAxoOuTCs B Hayale NOPEMIOKEHHS — [PUIATOYHBIM
MPECIJIOKCHUEM C COIO3aMM «TaK KakK, ITIOCJIC TOT'O KaK, TCIICPb, KOrAa»

Silver being very expensive, we seldom use it as a conductor.

Tak kak cepe6p0 OUCHBb OOpPOIo CTOUT, MBI PCAKO HCIIOJIB3YCM CIr'o B KAaUCCTBC
ITPOBOJHHKA.

2. Ecmm O60pOT HaXOJUTCA B KOHHOC IPCAJIOKCHUA — IMPUAATOYHBIM
IMPCAJIOKCHUCM C COXO3aMU «IIPHUYCM, 4, U, HO»

All these elements are radioactive, their atoms being very unstable.

Bce »th hineMeHTEI paaruOaKTUBHEIL, IPUYCM UX aTOMbI OUCHb HeCTa6I/IJ'IBHBI.

3. Moxer HaunmHAThCs ¢ mpeaora «Withy, mpuuem «with» He nepeBomuTCs.

With research involving more and more people, the profession of a scientist has
become very popular now.

Tenepb, Korjga ucclieoBaTelibckas padoTa 3aTparuBaeT Bce OOJbIIE JIOJCH,
npodeccust y4eHOTo cTajia 0YeHb MOMYJISIPHOM B HAIIIE BpeMS.

Ilpumeuanue: IlpuyacTue B HE3aBUCUMOM MPUYACTHOM 00OpPOTE€ OOBIYHO
IICPCBOAUTCA KaK CKa3yCeMoOcC. Hep(l)eKTHLIC (bOpMI:I npu4acTusd IICPCBOIATCA
rj1aroJIoM B COBCpIICHHOM BHIC. HaHpHMep:

Employment hours having increased, the GDP will also increase.

ITocae TOT'0, KaK BpCM: 3aHATOCTH YBCIINYUIIOCH, BaJIOBBIN BHYTpeHHI/Iﬁ IIPpOAYKT
TAaKXKC BO3PACTCT.

YCUIIUTEJIbBHASI KOHCTPYKIUA IT IS...THAT(WHO)

JlanHasT KOHCTPYKIIUS CITY)KHT JJISE CMBICIIOBOTO BBIJICTICHUS OJHOTO YJICHA
MpeIoKeHUs (TOITIekKAIEro, TOTOJIHEHUS U 00CTOATENIbCTBA).
It is (was) + BeigensIeMoe cltoBo + that (who)...
Ha pycckuit si3b1k 5Ta KOHCTPYKITUSI IEPEBOJIUTCS CO CIIOBOM UMEHHO.
Hanpumep:
It is the new system of management that gave the best results.
Hmenno >Ta HOBas cucTeMa yIpaBJICHHS J1ajia JIydIlIne pe3yIbTaThl.
It is the accountant who prepares the balance sheet.
Hmenno OGyxrantep MoAroTaBIMBaeT OaIaHCOBBIN OTYET.

HEITOJIHOE ITPUAATOYHOE ITPEJIOXEHHUE

['pynma cioB, coctosmas u3 coto3oB When, while, if, until, unless u t.1. u
MPHYACTHS, MPUITATATSIIBHOTO M PEAKO (CYIIECTBUTEIBHOIO), pACCMATPUBAIOTCS Kak
HETIOJIHBIC TPUIATOYHBIC MTPEITI0OKEHUS.

Hanpumep:

When carried out last year, the experiment showed good results.

3mech MPOMYIIEHO MOoaIeKaliee (To JXKe, YTO B TJIABHOM mpeanoxkeHun — the
experiment u BcrioMoraTeabHBIN T1aroj Was).

[Tpu mepeBoie Ha PyCCKUIA SI3BIK TOICKAIIEEe BOCCTAHABINBACTCSI.

Kozoa »sxcnepumenm npoeoounca 6 npowiom 200y, OH TOKa3al XOpPOIIUe
PE3yJIbTaTHI.
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